0]
)
O(3x+ 1)2 2(x+1)(x— 3) =7x> +10x + 7

o

+5)(2x = 7) = 6x% + 31x - 35

DO (x+3)2=x>+6x+9
1)\? 1
@ (s-3) —#-s+3

® Bx+1)2-2(x+1)(x- 3)
= (9x% + 6x + 1) — 2(x% — 2x - 3)
= (9x% + 6x + 1) — (2x® — 4x - 6)
= Tx% +10x+ 7

0 (o+1)o-3) =<

® (3x+5)(2x-17)
= 6x2 —21x+ 10x - 35
=6x2—11x-35




Ro|y| 7}2-L t}-& 183} o] 5+ ¥l ] Zo] 7} 3xm ¢l AAFZFR 9]
7t29] dol= ym(3x > y) EolaL, Al=9] Zoli= ym EA]

O
=
A2 BE WEY|2 sk, 2] Yol

_-=3T-~ Y.

v -~ v |
" N ~N—
3r| v +~ ~
1
\ Y
/

@© 9x2 + 6xy + y*(m?) @ 9x2 - 6xy + y*(m?)
® 65 - *(m?) @92 - y2(m?)

® 9x% +y*(m?)

F00] 712.9] Aol gx-4y(m), M) Zol 3x—y(m)
. wFebA] sk o] ol (3x +y)(3x—y) = 0a? -
y*(m?) ot




3.
(x=1)(x+ 1)(x? + 1) H7H5HA?

@x—
1 @ x*-1 (@’4 1
Xt —

@ x2
+1 ® x*+1

(-1 +1)=x1-1




the 1 ollA At F20] HolE x, y ol 2T~ __ 2y
gk Ao 2 vi=A el 222 /
I/
1
@D (2x +2y)(3x +y) = 6x2 + 8xy + 2y? 3
|
@ (2x—2y)(3x+y) = 6x — dxy — 2y? \\\
\
@(2x +2y)(3x —y) = 6x% + 4xy — 2y? Y
@ (3x+2y)(2x—y) = 6x2 + xy — 2y?
® (3x-2y)(2x+y) = 6x2 — xy — 2y?

B

AzsE HH ol 7lg o] Zlo|= (2x + 2y),
Alze] Aol (3x—y) ol

whaba] A Hio] Yol

(2x +2y)(3x —y) = 6x% + 4xy — 2y?




2(x = 3)% + (x +2)(3x + 1) = 7FH3] 32

@ x?-5x+20 @ 5x% +5x+ 20 ® 5x2-5x-20
@ 5x% +5x-20 @5x2—5x+20

B

2(x-3)2+ (x+2)(3x+ 1)

=2(x? - 6x+9) + (3x% + x + 6x + 2)
=2x% - 12x+ 18 + 3x2 + Tx + 2

= 5x% — 5x+ 20




T 13 Zol Al Ao dol7h 2442 2x 43, 3x—1, 3x+1 ¢
2ol Zylol=?

\

\
3r+1

|
|
:
1
L____ /
// !
/ 3r—1
/ //
2x+3~
O 18x% +36x+3 @ 36x2+18x+3
® 42x> +18x -2 @ 42x% +24x -2

<C5)42x2 + 36x -2

B ~
[ gwAe] 24 o)

(99 Hol) + (BH yol) x 2
=2(2x+3+3x-1)Bx+1) +2(2x+3)(3x-1)

=2(5x +2)(3x + 1) + 2(6x + 7x - 3)

= 30x% + 22x + 4+ 12x® + 14x - 6

= 42x% 4 36x — 2

—




(x=y+2)(x—y-3)2 A7sH=d] 4 A Ae A7

-y +2M(x-¥) -3 @ fx=(y+5)x-(y-3))
® {(x+2)-yH(x-3) -y @ {x—-(+2)H(x-y) -3}
@ {(x=y)+2Hx - (y-3)}

AS{(x-y) +2H(x-y) -3} 22 FojA x—y = 1 = X|¥5}o
A7Nsh= Aol 7 A A5t




8. (x-D)(r-2)(r+2)(x+3) < AN 0, 229 A%E Fotu?

® 3 @ 5 ® 7 @-5 @7

B

(x=1D)(x=2)(x+2)(x+ 3)

={(x-D(x+2)H(x-2)(x + 3)}

=(x*+x-2)(x* + x-6)

12 O] AlFE FofoF stRE, —6x2 + x2 - 2x% = —7x* oA x2 9]
A= 70l




082 & AXSHET] 7P Qe 429

(a+b)? =a*+ 2ab + b?

(

b)? = a* - 2ab + b?

S

O o

® (a+b)(a-b)=a®-b>
@ (x+a)(x+b)=x*>+(a+b)x+ab
® (

ax + b)(cx + d) = acx?® + (ad + bc)x + bd

B

982 = (100 — 2)2
=100%2 — 2 x 2 x 100 + 22
= 10000 — 400 + 4
= 9604

(a-b)? = a® - 2ab + b*-& ©]-&olH Hr},




10. x+y=4, xy=-2 L o, x? +y? 9 G227

® 5 @ 10 ® 15 @20 ® 25

2 +y?=(x+y)?-2xy
=42 -2x(-2)
=16+4=20




